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Pk, = 2047,72; Rze = B181
PLP = 2034,32; KLP = 256112
R =1600,00

max Pik=2349,67; Rze=81,/6

Pk, = 2097,83; Rze = 81,38
PLP = 2084,20; KLP = 211,46

R = 600000

Pik. = 26%,71; Rze = 81,27
PLP = 2681,92; KLP = 2711,90

Pk, = 2801,94; Rze = 8101
PLP = 2786,30; KLP = 2816,03
R = 6600,00

max: Pk=2819,12; Rze=81,0l

Pk, = 2848,07
Rze = 81,00

Pk, = 2901,68
Rze = 81,97

Pik. = 2944,45; Rze = 81,22
PLP = 2924,6¢; KLP = 2964,28
R = 3500,00

min: Pk=2928,/1; Rze=81,94

Pik. = 2993,69; Rze = 82,02
PLP = 2980,98; KLP = 300672
R =2500,00

max: Pk=3005,99; Rze=B2,02
T=13078=003

Pk, = 3027,63; Rze = 8201
PLP = 3011,4; KLP = 304386
R = 6000,00

mint Pik=3013,20; Rze=82,01
T=1621 B =002

Pk, = 3078,03; Rze = 82,27
PLP = 3060,32; KLP = 30%,/4
R = 730000

T=1821; 3 =000

Pk, = 3196,96; Rze = 82,29
PLP = 3119,74; KLP = 319422
R = 720000
T=31248=000

Pk, = 3219,25; Rze = 829
PLP = 3202.93; KLP = 3233,/
R = 1600,00

max: Pk=3219,89; Rze=82,8/
T=1638=1008

Pk, = 3239,06; Rze = 82,96
PLP = 3240,90; KLP = 3277,22
R = 4900,00

T=1816; B = 0,03

G zsmye Azok}

Pik, = 3309,38
Rze = 82,44

Pk, = 3350,22; Rze = 82,04

PLP = 3339,17; KLP = 33/1,27
R = 400,00

mox: Pk=3350,99; Rze=82,92
T=160958=00

T=1340;3=00 T=1363B=1003

v Pl=2690,60; Rze=81,29 T=1499 3 = 002 1= 1858 = 06 %) s
T= 1479 B = 0P : \ =5
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